Chapter 8 Transfer Pricing Methods
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Answer 4

(a)

The $100 per unit would equal the division’s variable costs ($50 + $20 + $30 = $100), so the contribution margin per unit is zero. [2 marks]
Thus, only the 8,000 units of external sales would generate a contribution margin of $800,000 (8,000 x $100) to cover fixed costs of $900,000 (10,000 x $90). [2 marks]
Therefore the division would show a $100,000 loss. [1 mark]
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Answer 5

(a)(i)
Transfer price = outlay cost + opportunity cost

= $650 + $150 = $800
(2 marks)
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(d)

The use of a transfer price based on the frame division’s full cost has caused a cost that is a fixed cost for the entire company to be viewed as a variable cost in the glass division. This distortion of the firm’s true cost behaviour has resulted in an incentive for a dysfunctional decision by the glass division manager.
(3 marks)
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